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It is assumed that the lifetime (in hours) of light bulbs produced in a factory is normally distributed

with mean p and standard deviation o. To estimate u the follwing data was collected on the life time
of bulbs:

2530/|7811/[5140/[4598/[3099 (8414 [1541 (41237892
[1783([3560 (6544 2377/(3214 (2223|4548 [1574 3641

Compute a 95 percent confidence interval for . For this question, find the margin of error.

This is a Numerical-Answer Type Question

Points  [5.00 |

_|Refer to Quention 1. Find the left end point for the confidence interval of p interval.|

This is a Numerical-Answer Type Question

[Points  ||5.00 |

-|Refer to Quention 1. Find the right end point for the confidence interval of p interva1.|

This is a Numerical-Answer Type Question

Points 5.0 |

To estimate the mean time taken to complete a three mile-drive by a race car, the race car did
several time trials, and the following sample of times taken to complete the laps was collected:
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Compute a 95 percent confidence interval for the mean . For this question, find the margin of error.

Points  [5.00 |

- This is a Numerical-Answer Type Question

_|Refer to Quention 4. Find the left end point for the confidence interval of p interval.l

- This is a Numerical-Answer Type Question

IPoints  [5.00 |

-|Refer to Quention 4. Find the right end point for the confidence interval of p interva1.|

- This is a Numerical-Answer Type Question

Points  [5.00 |

To estimate the mean height p, in feet, of toddlers at age two, the following data was recorded:
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Compute a 99 percent confidence interval for the mean L.

This is a Numerical-Answer Type Question

[Points  ||5.00 |

-|Refer to Quention 7. Find the left end point for the confidence interval of  interval.|
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This is a Numerical-Answer Type Question

Points  [5.00 |

_|Refer to Quention 7. Find the right end point for the confidence interval of p interva1.|

This is a Numerical-Answer Type Question

Points  [[5.00 |
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